1. ¥¥%4
e 2d G5 AEERIY NEFL R ES
BT %P B AR IR 2 P T A YR BT S
2. ¥BNE
1) ZEFEH SF 54 44 7) TR BRI
2) T4 HEWNIESHT SRS 8) HuxX A1 X
3) ¥EBFEE  2023873651020002 9) I - EEHR
4) BHIXy  EE BErEt) OOEE 10) FFHEA AF44E12 H
5) ERE%E 5] 11) Bt —fEEIE 0%
6) JBITHI 1,096 H H SfM544H1H 1 2) HflwEH4H SF54E2H
() £ S8HE3H3H 1 3) i 4 A SF5E2 A
(55 [MZE®E) = S 4 H H 14) mAiEAESLE M
15) AiEK%E M
XAt EBNE
3. THAH
1) THEEH 2) H 3) HOH 4) FHEA




RHRRE

HE B/ B % MM AR K Hul &% & B @ & ] &
DS EERRY LEEXIEXH
TLEBEHA =X 1 115, 140, 000
5 R =X 1 74,983, 862
B [ i =X 1 60, 166, 222
EEAGE =X 1 59, 270, 560
EEXEA A 36 1,131,000 40,716,000(55 1 = H«
CPNIN 53 A 36 452, 400 16,286, 400|585 2 75 Hififi#
EBITAE - BEEE =X 1 2,268,160|%8 1 5HaRE
EEEE =X 1 895, 662
REXEE =® 1 78, 264|585 2 BNIRE
HlEEE =X 1 817,398[% 3 ZFWEFHE
el $2 [ i =X 1 14,817, 640
Z D i R 1 =X 1 14,817, 640
—REEEF =X 1 40, 156, 138




REANRE
H BT BB M@ MW % B #E | & # i

E ANk =X 1 115, 140, 000
FLEBEHRB = 1 97, 310, 000
E i =X 1 63, 253, 190
B [ f =X 1 950, 602, 552
EEAGE =X 1 50, 602, 552

EEXEB (B - KE) H 128 36, 205 26,357, 240|% 3 S H{l&E

EHEXEB (KB - 2% RK) H 368 65, 884 24,245 312|584 SHUfHE
fi 3 [l =X 1 12,650, 638
Z O fth R 1 =X 1 12,650, 638
—REEEF X 1 34, 056, 810
E ANk =X 1 97, 310, 000
EFMAEET X 1 212, 450, 000
HERENE X 1 21, 245,000
EHEEH =X 1 233, 695, 000




ME 15 EBITEE - BEEE N iR £
15 | £ FR 3] Hful & & 1 ® & 1
EEAGE = 1.0 2,268, 160
BEm(A) A 16.3 51,200 834, 560|R 5 FE
£Em(A) A 14.0 51, 200 716, 800| R 6 &5
BEm(A) A 14.0 51,200 716, 800|R 7 £ E S

2,268, 160




nNE 25 REXEE A iR £
15 | £ FR 3] 1% Huz| &% &£ B @ ® & fi& %
&8¢ = 1.0 18, 264
4 by 150 == 36.0 2,174 78, 2643 5 SHflR

18, 264




ME 35 EMEER A BN =
15 | £ FR 3] Hful & & L i ® & 1

Wi EHEE = 1.0 200, 086| R 5 FE 5
R E HYY Y 890. 2 149 132, 6397, 300km/& <+ 8. 2km/L
HAE%E = 1.0 26, 527| 1A & D 20%
EERIEH = 1.0 40, 920

WM 72,980|R 5 FE5H
A& AVI Y L 200 149 29, 800
EERIEH = 1.0 43,180

WiRBEENE = 1.0 199, 486|R 6 FEE 7
R nVI L 890. 2 149 132, 639|7, 300km/4E =+ 8. 2km/L
A% = 1.0 26, 527X & D 20%
EERIEH = 1.0 40, 320

AR i 72,980|R 6 £E &
PR AvVIY L 200 149 29, 800
EERIEH = 1.0 43,180

Wi EHEE = 1.0 198,886|R 7 £ E 5
R E AVIY L 890. 2 149 132, 6397, 300km/& <+ 8. 2km/L
HAE%E = 1.0 26, 527| 1A & D 20%
EERERH = 1.0 39, 720

WM 72,980|R 7 FEH
R E VRV L 200 149 29, 800
EERIEH = 1.0 43,180

A

817,

398




BE 15 BEXEA 1A Y OB i %
5 B % FR ) i =3 m | £ # %
EEAGE =X 1.0
EEXIEA Rt & A 39.0 29,000 1,131,000
&t 1,131, 000




BE 2% ZFLLHXZE 1A Y OB i %
H H % FR i) i =1 m | £ # %
EEAGE =X 1.0
CFNIN: S RitT & A 15.6 29,000 452, 400
&t 452, 400




BE 35 EEXEB (FB - ®KRED 18 Y OB i %
5 B % FR ) By =3 m | £ # %
EEAGE =X 1.0
EEXEB A - ®HE H 1.0 36, 205 36, 205
&t 36, 205




BE 45 BEXEB (KB - 2x%HK) 18 Y OB i %
5 B % FR ) By =3 m | £ # %
EEAGE =X 1.0
EEXEB A - 2xK H 1.0 65, 884 65, 884
&t 65, 884




HE 58 54 hAUI15L 14 % oy B ®
15 = £ o 53] B # = i & L &
MHE = 1.0

Huyy L¥a5— L 5.2 149 774(2. 6L/h x 2h
BWEE = 1.0

7o mimmsyan P 2.0 195 390

ER A H 1.0 1,010 1,010

1.5L #tRBgvYiEN

2,174




